)

£14=5

nsL\EH

19.7.156

o T L) BRI N o0 BEL
B = B B il SRR 4 CTFITR
\ ATV =y DOV TS Edg £girsg
283 ZEES
FHEEH<ERE R EE RN O B+ - OB RE D | s <
iz - RGO XK R BN Bl R £ O - §=
2 o EC < <
o g\ k%Bg %o
[k 55 ) S=EERIIENHES ww S m%mW EEE
D HEHSLHRBICH IO DVE C AR 248 7 IE e T - S mm,( ﬁwww%
L GHE P HITE < W W = 0< ~Z W &
GEVQUIERKELE > O VR T ] oo oo
£ ERKENE SR ERER 1< 1E X3 3 4 58888
HEW BRI REOLR D RKD — N 8% B 3 = 888G
HET | DROREF 00K WRE<E WK< me  ®S2 LRdg 2L <
O O4° D> 4HH07R SO Bl 3 4 Bes w82 (24
R A=l N HPSE P K] =< = 25 |Es_ L
KB ESPEUEEE D 9 — 1 N 2 _ = BeT EEEsE
MK QBT 2 4240 2 441 0 14 HRE<® 1< PRK< | # £2% CEE&HE
O R ERKE R D MIGRANSST RS — U i B SoS ARk
R0 WRE<E 1K< HE
AT > BB G e T £888
RN 1< R 1< R N L E3S 2\ WB® | | ssg
KRR < =4 011< ETEHNOET (B | HE ) g5 RS89
Ea<E< b0 - | RUC<R s ) <g° z
R R R HE° 11 PORR BLVE ? = »
%+ | B RRIE & RSP RES -
g EH-EECIE DD VNS 25 |9 k&g SErn
> B85 SHE0 N bk TmQ SREEEROHHL He LT g RS 2R E
- EREEQ (N L ER HOERBEEBRUEY VR HS BE &ME_ THES
HEE |7 HO0< PSR ¢ BT O e BT Nk
- WIS

- BERESH O oRRER

=TT,

=
=1

IR AT H#=5([%8109,487,979M (3 4 HAK T IA WV E £ 7%



(5) $£142 Bhs\iEd 19.7.15
AE =
NEEXEIFRSET 2
=
BE
S SRR S S UA %
1,397H ¥
%
HEPNA F
2(,856,45;7F':J E
38.4%
E
IRA ‘
7,446,781H
e — i SETRE (FEXY) FHe SBRAOEEAR
SELIA
4,588,927H E ¥ % (BE6E [) E ¥ % (BE6E [)
(61.6%) . N
WmOAGE B oE ¥ 97003266 A AN E E R E 7761655
e 7 LA & WKW OR % 1gmpee AEWEEIEME 56661
288,207 (3.9%) . 4
e ML | o7sereos b A AR SR 1347065
e y : SMHn0EHS 2,400,911
BRI -vakE | o D PFEINER
$§i§§ T MRS B 38 | 6,422,705
(12:2%) - ”%; - POESTO g A bk W % 1940101
7,446,781 H ﬂﬁiﬁ*ﬁﬁt(ﬁ?j}%ﬁi 770,220 ’E\Eaz&ma(%%%% 490,064
AT/ TATE SR 2208532 REiRE REELEE 384000
5 6241405 A -CARIMESEE | 4339416 K 2= {3 4k & ¥ 75,000
(75.5%) % 4 B oE 400,000 —REEAEC SR 389,740
. =g o b el AR il B S 4 78,962
BEXH & DREE I PR PR H | 256,302,329 o e 6ot
5 2 % (4 m) fieys—fis 10556 77 TERE ’
T R 044,207 - Bt | 455,164,450 n‘;7/7‘47’ﬁ5€$¥ 433,804
= ok o JE OFE OE 128827 fia Ak A& Br f 383,580
S EMAMETLIREIE 5273657 z ) 1th 14,799
& &t 7,446,781 & 5t 20,454,801
AE
N AEEL LISy
REXYC EOREEHR . 20 (FHAER) 2O (FHAR)
B o= 2 BEASTLEBEIHH | 1,727,325  BALTLHEEHBESIIA 892,536
. 2,040,000F9 (1.7%) (1.5%) 2,040,000 (1.6%) (0.7%)
92,902,294 i~ g
N . A, EEBTH AR E %S
ol f\ IR PR R L ¢ 17,702,803 8,784,056 (7.0%)
A 5= 3426k  (14.9%) SERILA

8,719,274H

(6.9%)
. 25,593,946
A /N KE ’ ’
SR T -2
Y v a2 — 14280 118,615,632 125,630,025M
’ i%’?%"ﬁ%
Bh&UXA
BEETH
119,392H] 15,428,000
N oty gl o A B 80,923,770 e 89,766,159
.. R INEEL BB 16,25%%34;] (68.2%) (12.3%) (71.5%)
UNFESEH (13.7%)

(ZDDOAER) (M) (Z D DAER) (M)
& 5t 118,615,632M EALF AT H 469,200 EALFEFHBILINA 469,200

SEBUEBALTH 370,125 SBINA 279,000

EEBERESRS 888.000 HIRA 128,966

BATH ’ SHRFISEY LA 15,370

YRA X H#£5(%67,014,393M IS AR KAV ELKSTY,



19.7.15 5143 6)
—hir=ET-HRIRET HERR

TR194E 3 A318 (B M)

T E O BB B & O
¥ H | m = & % ¥ H | ®m = & %
1. REVEE 145,970,514 1. REIVERE 29,468,142
(1) —f=Et 130,016,141 (1) —fgssEt 20,528,162
O 248,740 0Z3/%5 R REERS 19,847,962
Q| % HLEREES 72,926,489 QmZ4 Bk-E212E4ES 680,200
QFINE NERTES 55,978,196 (2) AEEEHRSE 7,981,674
@1RhE EERRBE 862,716 || | DFkire EX T E: 7,981,674
(2) AEEEBINSE 14,996,067 (3) INBELEFRISE 958,306
OB £ 30,000 DOFkirE EEEIEHZE 733,306
@E £ BIEREES 5,564,654 @mEY% ERERRNALERS 225,000
©F &S 1B £ & % 9,248,663 || 2. EAEAR 26,800,000
@A & BEERBHSE 152,750 (1) —f=Et 18,640,000
(3) IREELEISE 958,306 || | ORBEHELHEAL | BRBEHERMEESL | 18,640,000
OE £ 300,813 (2) AREEEHSE 8,160,000
QFINE EETEEENE 657,493 || | ORSREELEAL | HRUBBAMEES 8,160,000
2. BEEERE 664,784,115 & & & & 56,268,142
(1) —fr=st 650,504,243 EGlFEE 754,486,487
OEXRBE T # - E#E| 300,245,929
@OtOMNETERE | EHE W E % | 350,258,314
(2) AEREEHHNSE 14,194,872 éjf_,
| OTOfOEERE EWEMEZ | 14,194,872
(3) IRBEEEHHSE 85,000
| OZOMOBFEE | B E & O & 85,000
B E & & 810,754,629
/ =) - PN \
YN -

T EE —— T
ELEAOEREER AR hrBEyEoESF L H R %]
TR AR FeMET AN FLdBE W 2hE =R

wiag xBpsg cm a®ermag 2o T Il
DN = =S FREex=me=E G o R E
FRNTFME=F+® MAmME .z @ cPE o=

c OB UMW Mo LUgENA B 5 8FE it
X0 B F LA E BRI LHEE - T2
%L%ﬁ,\bﬁﬁgﬁ ’\ffﬁ/\bJrLﬁEEl LA‘%'» H IE]
th&CTplE2= H WalE~zypx "2 f:¢% S}
AR A W5 C 5 Lo - & g
A 5 %% frmt 253
< 5 = A = hsiE =

VAl B = + L &= 5. 5
+ = ¢ + FH A |
wyoeezoe L H 35 T+ — R V.

=T k12 I N 4 =
Mwe2a W+ @ -8 H - L 2
LA 2 — W@t 2 vH W& —
Pl RIS 7% H Wwoak -+ T s E % af =2
ik L= 2 WE - E &T o ok =]
Ly > X7 2 T stk 2O g B eELy
Ty kg b TN o I 7 R
WzmeT b EAO DA f 1]
Ko o2 L7 A 5 # 1
j’ci A EE M v M 4 2 H i
fripe &= 1l Ly & W oz o
L‘G:f{éi‘ I 7 437 IEL L 2}14“ A
FhRLENh = I cr i Hqc %J\ =
LBl = 5H [ < [H X - H






